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Problem Set Chemistry 435 October 22, 1986

5. From compounds 1 and 2 show how you would prepare 3.
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6. How would you make 1 from the benzene derivative 27
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7. How would@aﬁeco\mp?und 1 starting from 2, acetaldehyde, and benzaldehyde?
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8. How would you mak’é &omopund""ﬂ from ethyl crotonate, acetaldehyde, acetone and
hydroxylamine hydrochloride? o 3
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Problem set Chemistry 435 October 22, 1986

1. Draw as the 3D structure the steriod given below.

2. Give the regio and stereochemical orientation for the product cf the Diels-Alder reaction
shown below. Rationalize your answer using frontier and secondary orbital interactions.

W,

OCHjg /CH30

3. Give a Diels-Alder approach to compound 1 starting from the indicated diene.
Use any electron deficient olefin that you chose.

OHC
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4. From any electron deficient dienoplile and combination of dienes)you chose prepare 1.
Try for a reaction sequence of five to six steps.




w

2no HOVR. Exam "
(vwm_f_\_; W€ MoLEcLLaR mooeLs! )

Prof’c)&{ M, Q{'{'\“(icn{‘ Cmfi \C{‘-QfQOCO’\'(fO”PO‘ f)"“'h?.r
Oge

O'G '@t‘f“‘ '(‘.‘O\VEC/{‘ ’E"’m ’RQ J‘l‘q.rl\‘nj mQ'Leri“q‘ sl\own,
Any Addrichy T"\“l'QV”QJ To ks
A'SSQM Fm&mﬂ: are rc:((_p_,m]‘c/

or {*ﬂwdard NM
Sf:uau‘fx‘*eo\! Write  angmes m

chiral unloge  olkerwige
blug book S‘FQLT‘]L-/;QS
O{l\ Kﬁ\gb‘\"ﬂ' Pq'k“ Your name (PR.M/T‘.‘) on b[uQ 6004

a

O
C=EN ——
CEN
e QH’-([:,"CQ " Phy oéc') 4
7 &
9) : (J—(_g
CQ"\QI-\-HO Pu(q\
0
c W CH
HOC CH(CH), — T¥N |
O
o ,
" C=C-0¢C
< co cz Wi * H,r
COCHr -
; (o)
6 o]
©
0
c CH




3 %0 Lnd EXAM

(V)N

N=

b o

AV 4

i O

(annh'opure)
s Lk >
SPh 0
- 0
9. CHoOC i -
O
0
lo. CH3CH,_COOH ¥ \"/lCDH
o PI-\/’ (QnQn‘\‘;oPurQ )

(Plecue pu{‘ MOUr  name on e bl Boo‘t-)



Peosiem Ser 2 Cvm y3s 9| 2r[9e

Skacking fon  Alderg, precursos ,  and i ot
leart o a@ e geernl  wacku  Aype Aisowssed
in - clags prpose e fhiient  cqatlopn, -Fr 2exely

of 4 Lol owiy Compounls - Arssume Aoy

Arg  rqumw T% ﬂo'{" D"('{Qr’w?&( s]g_ec'; 6*@4

A0 Jl}'// | 4 . : cn
g /Q\ | “64/>_‘ S
e J e COy M W\ H

,\ (‘?Mn{;‘o. pure )

. g Ll/”i‘;éH

CHLO0A ;- |

\

WSS
_ JR
enantio. Ny : /N )
pure ) 8\/ \I/\\f | )
COOH
' n

/

(&)




\, an

\/\/\/NHC“B

cH ¢ =CH

1% HO, ¢ cu,cu, Cny
1 CHa
7. k@
e
0
e
Co, Y

20. Av
Co?_ -

s
<

V4
+
”
b ;
]
<
¥

HO
OH
> > Hn/\/\ (.7
(.Q.nQn"C:lOPUfe )
Co ey,
> >
Y 4 e . QlUQ' -
= e .h\— */
CH_;
™ O
2y
CH3
Z Co,H
>
O

(P\Q_d,t? ’l'u\m. n‘n \{our gismof b(w ()oo[c(j) Or’l’-;,)



